[B1202°xZEH ] 72 FEHERIHE (FL1B/H45H)

T 5% = gzl iR P 3T S
1 1 =& 5 1 30
1 2 =FI8 5 1 32
1 3 = 5 1 35
1 4 RE 5 1 39
1 5 ERFE 5 2 8
1 6 = X1 5 2 12
1 7 =IZH 5 2 37
1 8 =7 5 3 1
1 9 sk 38 3 5 3 5
1 10 57 5 3 7
1 11 =iEE 5 3 8
1 12 sRAETN 5 3 13
1 13 (ZAvA 5 3 30
1 14 RISE 5 3 31
1 15 FTIEES X 1 14
1 16 =P X 1 17
1 17 EE % 1 25
1 18 FEE X 2 18
1 19 SBRRE X 2 20
1 20 ST 74 2 22
1 21 & R & X 2 24
1 22 TERREE X 2 26
1 23 SBED X 2 39
1 24 ZEE Y Y 3 14
1 25 =T A0 i X 3 15
1 26 A Y= X 3 17
1 27 REFF X X 3 18
1 28 RIS 74 3 21
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[B1202°kZEH ] 72 FEHERIHE (F28/H458)

T 5% gzl iR P 3T S
2 1 RERTE 5 1 1
2 2 Sl 5 1 3
2 3 ZHA1Y 5 1 8
2 4 sF B fi 5 1 12
2 5 wED 5 1 33
2 6 BR SR 5 2 5
2 7 MBEE 5 2 6
2 8 BOE= 5 2 7
2 9 =5 5 2 11
2 10 3= 5 2 36
2 11 RN 5 5 2 38
2 12 ZRUC 5 3 6
2 13 =HESR 5 3 12
2 14 AR 74 1 16
2 15 =EF X 1 18
2 16 7358 % 1 20
2 17 = KR X 1 21
2 18 2719 X 1 24
2 19 REL X 1 38
2 20 A& 74 2 17
2 21 EFE X 2 31
2 22 RnE X 2 40
2 23 HEFIE X 3 27
2 24 MAE X 3 28
2 25 LIS X 3 29
2 26 H R X 3 34
2 27 TR = X 3 35
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[B1202°kZEH ] 72 FEHERIHE (FE38/H45H)

T 5% gzl iR P 3T S
3 1 i 5 1 2
3 2 BIERL 5 1 6
3 3 L50E 5 1 7
3 4 ZRITIR 5 1 9
3 5 ) 5 1 11
3 6 S 5 2 1
3 7 BRAAF 5 2 2
3 8 #iE15 5 2 28
3 9 [ELEES 5 3 2
3 10 X% 5 3 3
3 11 =EM 5 3 4
3 12 EXx 5 3 32
3 13 #ESIE 5 3 33
3 14 S % 74 1 13
3 15 =TH X 2 14
3 16 Z ¥ 38 X 2 16
3 17 MESE X 2 19
3 18 B8 X 2 23
3 19 KRER X 2 27
3 20 = W82 74 2 29
3 21 MEE 4 2 30
3 22 ZfEa X 2 32
3 23 TEPEHE X 2 34
3 24 ST X 3 23
3 25 TRIE A X 3 25
3 26 T W8 55 %4 3 37
3 27 T 55 X 3 38
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{8120277<;?E|3] VRFEMERIHE (F4B/H48H)

T 5k gzl iR P 3T S

4 1 fié"ﬂ% 5 1 4
4 2 RS 5 1 5
4 3 =R = 1 29
4 4 SRE ) 5 1 31
4 5 EX 2 1 34
4 6 IEEEE 5 1 36
4 7 == 5 2 3
4 8 ZFER 5 2 4
4 9 EFXE 5 2 9
4 10 ZNEE 5 2 13
4 11 B 5 2 35
4 12 e Im 3 2 3 9
4 13 EYx g 3 11
4 14 PRIE 54 1 15
4 15 EEE 54 1 22
4 16 eIV 54 1 23
4 17 RBEE o4 1 26
4 18 BTG 8 1 27
4 19 ERE 54 1 37
4 20 SpFIE 58 2 15
4 21 TR 54 2 21
4 22 = 1l 441 54 2 25
4 23 EARRE 7 2 33
4 24 PR 7 3 19
4 25 2 E=E 54 3 20
4 26 EXR g 3 22
4 27 B2 %40 58 3 36
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